WINAM GROUP

CLOXX

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 24.2.2015

220610

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220610
CLOXX DATE: 24.2.2015
702341  |pcs 703638 |pcs 703640 |pcs 70381

90x50 =

703844

D

703846

ps

904747 |pcs| 902424 |pcs| 904389
32 19 2

60x60x2 L 1034 L 2148
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCs

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220610
CLOXX 4

DATE: 24.2.2015

+ + + + + + + + + + + + + + + + +
EN/AS Impact Area 25.2 m2
Grid size = 500mm 1:50
+ + + + + + + + + + + + + + +
————  Falling Space 25.2 m2 0 2
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
1360 mm
[4-5 3/4" inch]
+ + + + + + + + + + + + + + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
(|
i S
o
Elc Elc
. Ty . CET O B
3 — T o
Elc S o~
= 8} &l ol
IS c 2 Nio
L .S N™
+ + o=+ &L + — —,+
— ‘I_ £
L N
NN oM
— N
+ + + 00 [— + + + +
© =
L
e}
—
+ + + + + + +
o}
+ + + + + % + +
£
E;
ElN
+ + + + NGt +
O\—
o
N =
1
+ + + + + + + + + + + + + + + + + L + +
890 mm 1490 mm ",
[2'=11" inch] [4—10 1/2" inch]
+ + + + + + + + + + + + + + + + + + +
1070 mm
[3—6 1/4" inch]
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
N
+ + + + + + + + + + + + + + + + + + +

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220610

DATE: 24.2.2015 5
EN/AS Impact Area 25.2 m2
1: 50
I 0
— — — Fadlling Space 25.2 m2 0 2
Max Falling Height 2190 mm
3760 mm

[122—4 1/4” inch]

= =
(8] (8]
C C
£ = | £
€l £l
o> o>
S| o o
M 1500 mm 0] 1
o ’ ” . '\
= [4=11" inch] =

6220 mm
[20'-5" inch]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



220610

DATE:

WINAM GROUP

CLOXX

SA

24.2.2015

+2190 [7'=2 1/4” inch]

T I

+0 [0” inch]

A

-390 [1"=3 1/2" inch]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP 220610 s
CLOXX PLAY 6

PARTS
DET 17,19,20

703640
x4

DATE: 24.2.2015
902134
x14

904389

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




220610
DATE:

7

TOWER A

24.2.2015

902134

703850

WINAM GROUP

CLOXX

|
1

NS
T\

f
\

902424
904389
703640
703843

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP 220610 s

<, TOWERA
CLOXX DATE:  24.2.2015 PLAY 7a

904389

703640

<S> c 5

S

703638 703638 N ~
/ \

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



V- N
WINAM GROUP 220610 s

— L_/\"( TOWERA
CLOXX DATE:  24.2.2015 7b

902424

703640

703846

703843

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220610

— TOWER A
- | wﬁ~w
CLOXX D : 24.2.2015 ‘ YA\ \/ 7 c

frsy] =< \@
=
o' 3

703640

703843
703843

@ 703842

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



220610

DATE:

WINAM GROUP

CLOXX

24.2.2015

Max falling height

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX / FINNO ABC

BASE

DATE: 19.11.2012

DET 1 | ‘
78

J 90 (4

Concrete /
Betoni

DET 2

DET 3

SEEANRLEARES

DET 4
Betoni /

Concrete -r

Z zzft%
ti%
ti%

500x500

_

Harjaterds / Ribbed bar
(ASO0HW (2x))

420

500

—

DET 6

DET 7

DET 9

Concrete
600x600x250

550

DET 11

M10
@20/10.5

DET 12 225 _

53

5
|
Qe ‘ 00 Q9
Qe 0| °°~_ 09
Qe”°| | o 008
o0 | 8 o,
29 o0
32
e
Oi

85

° 6

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE
CLOXX / FINNO ABC pate: 19112012 7 © 2(3)

DET 13 DET 14 DET 15

M16x7110
@30,/17x3

=)

REXL | FXXXA
R85

N

DET 17 DET 18
M12x35

Concrete
500x500x200

T

Harjoterds / Ribbed bar
(ABO0HW (2x))

DET 19 DET 21
ATT

Drilling can
be done via
hole in rotating
flange.

110

i _
o0 ° oo P ° OO°Oo o
o o © o 008°O °
o o
o0 * 4 08 o « [
o8 °0og ° Og

Concrete /
Betoni

oo ¢ ° 0

Ogoo 8 o‘\

NP NKON 0N NN N DN 00N
O
o
N

DET 22 DET 23
= 2107 90
(4x)
O
= ”L
/N
Al il

S m}i T
Betoni /
Concrete

Safety surface

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE my/
CLOXX / FINNO ABC  pate: 19112012 =7V 3(3)

DET 25 DET 26 DET 27/

MTOx25
= 9095719 Concrete

|| 500x500x200

l/‘\\
N

Z AR S e N R AR RSV
4 Z” //////; 5 //é/////C> Yz /////// // L7 ) 2O
S N, P L7 O, wn\| ,» 77 s &, O
= % 7 s 7, 2 4 i~ |z SO Yl ad ” //ﬁ»
z / 7 2 Z
@ @ZO/WO 5 % % P2 ////// jj;////// :///// V4 //// /j/ %% T % 7
& <> RN 4y L2222 D Z AN RS e\ ﬁ
® = A D il
DET 28 DET 29  wmiox100 993555 |DET 30
904074
904087
_Z .

T

o 0% s g Q% Q% . Q% o Q%
Q° Q Q° Q- 2% ] oe TR T.¢
. o o oo ° o R °

o Qe ° . % - °

Q° = 3° g Qe Q° Qe o

.. c - Q

Qe Q 0% 3 Q °

SV VT "/A%é 7
Concrete —
AN

DET 31 DET 32 M10x100 DET 33
@10 T 90 (4x)

@10 T 90 (3x)

904010
904031

904010

904031

X X4
B<
202

o
Q° Q° Q° qb

g ;) Q
7 /A/A/A/A/Ag
Concrete "

Va

DET 35 DET 36

Z ///4// 7

Yozl 7

_ 7v arir
/Z /

5\ ©20/10.5 |7 27,0\,

& NG %%

M10x25

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



Copyright Lappset Group Ltd

WALL

CLOXX

DATE: 11.11.2016 1(7)
(O 703840 |P]) 703817 [pesf() 902124 [pes(() 980161 [pes() 902232 [pes(() 902233 [pes(() 905115 [pcs|
' 1 16 24] 1] 8 | 8 |
&) 9
YELLOW | | 150x50x50 | | M10 [ | wMioxs5 | | wmioxso | | @30 | |
D 905090 [pes|(C) 901302 [pes(() 904336 [Pos|(x) 904297 |pes((x) 904302 [pes|(x) 904366  [Pcs|
8 8 8 2 |4 2
- 8 S S = B =
o >
| esas | | @20105 | | @ex20 | | L GREEN | | xxL YELLow| | XXL GREEN | |
() 703841 |PE[) 703818 |pes() 902124 |pes(() 980161 [pesf() 902232 |pes|() 902233 |pes() 905115 |pes]
1 18] 20 2] 8 | hll
g \ay @‘/ @\,
D. GRAY | | 1s0xs0x50 | | w0 [ | wioxss | | wmioxso | |  eso | |
D 905090 [pes(() 901302 |pesf() 904336 [pes|(x) 904302 [pos| Ps| Ps|
4 4 4 |4
. il il — R - -
< | |
| eas | | @20r105 | | @ex20 | | xxL YELLow| | - -
(O 703842 |p¢s]) 703819 [pes() 902124 [pes(() 980161 [pes() 902232 [pes|() 902233 [pes(() 905115 |pcs|
2 J . 16 20] 12 8 | hll
B ||| |
5
Mark C | |D. GREY | | 150x50x50 | | w10 | | wMioxs5 | | wmioxzo | | @30 | |
PE]) 905090 [pes() 901302 |pes(() 904336 |[pes|(x) 904302 |Pos| pes pes
4 4 4 |4
i 4 il B - -
< 9
| eexe0 | | xxu veuow| | N N
pes(() 980161 |pes(() 902232 [pes() 902233 [pes(() 905115  |pes]
16] 25] 7] 8 | 9 |
F:?f @‘/ I
YELLOW | | 150x50x50 | | w10 | | wmioxs5 | | wmiox3o | | @30 | |
D) 905090 [pes|() 901302 [pes(() 904336 [pes|(x) 904298 |pes((x) 904302 |pes pes
9 9 5
- 9 = B -
- >
| @45 | | @20r05 | | w@ex20 | | LBWE | | xxu vELLow| | ]




CLOXX

WALL DATE:  11.11.2016 2(7)
() 703844 |PE]) 703825 |pes() 902124 |Pes(() 980161 |Pes(() 902232 |Pes|() 902233 |Pes(() 905115 |Pes|
1 16 25 7] 8 i
’ D | |g— Q
veLow | | 1soxsoxs0 | | w0 [ | wmioxss | | wioxso | | @0 | |
) 905090 |pes() 901302 |pes|() 904336 [Pos|(x) 904297 [pes|(x) 904298 [pcs| pes
- 9 9] 9] 4] 5| -
=l M
| @45 | | @20r105 | | @ex20 | | LoGReEN | | LBLE | | ]
(O 703845 PE]) 703822 |Pes|() 902124 |Pes|(C) 980161 |Pes|(C) 902232 [Pes|() 902233 [Pes|(C) 905115 |Pes|
1 16 21 3 8 S
S e
\m? || ®
<)
ork F YELLOW 150x50x50 N M10 N M10x55 N M10x30 ] 230 N
PE]) 905090 [pes|(C) 901302 |pesi(C) 904336 [pes|(x) 904298 |pes| pes Ps|
- = 5] 5] 5] - -
il
| @sa5 | | @200105 | | w@ex20 | | LBLWE | | ] ]
(O 703846 [pG]) 703823 |pes|() 902124 [pes|(0) 980161 [pes|(() 902232 [pes|() 902233 [pes|(() 905115 |pcs|
1 16 25 17 8 9
S . \
= ,/
<)
Mark G | | YELLOW 150x50x50 | | M0 | | wmioxs5 | | wMiox3o | | @30 | |
PE]) 905090 |pes() 901302 [pes|() 904336 [pes|(x) 904297 [pes|(x) 904298 [pes] |
9 9 9 4 5
= W
| @45 | | @20/105 | | w@ex20 | | LGReen | | LBLUE | | |
() 703847 |pGs]) 703824 [ees|() 902124 [pes| () 980161 |pesf() 902232 [pes|() 902233 [ees|() 905115 |pes
1] 16| 21 13] B 5
e || ®
)
150x50x50 [ | M0 [ | wmtoxss | | wMiox30 | | @30 | |
(O 901302 |pes|(C) 904336 |pes|(x) 904301 |pes Pos| Pos|
S| . -
=
| @s4s | | @20/105 | | @ex20 XXL RED ] ]




WALL

CLOXX

DATE: 11.11.2016 3(7)
() 703848 |ps)) 703821 [pes(() 902124 |pes() 980161 |pes(() 902232 [pesf() 902233 |Pes(() 905115 [pes
TP L 1 16 21] 193] 8 S |
' \&/ @‘/
| p.oray | | 1s0xs0xs0 | | w0 [ | wioxss | | wmioxso | | @30 | |
PE]) 905090 [pes(() 901302 |pes(() 904336 [pes|(x) 904301 |Pes| pos| pes|
- S S =i =i . -
&
| @45 | | @20s105 | | w@exe0 | | xxtreD | | - ]
) 703826 [pes{() 902124 [pes{() 980161 [pes{() 902232 [pes() 902233 [pes{) 905115 [pes
16 25 17 8 9
& 9
YELLow | | 150x50x50 | | M10 [ | wmioxs5 | | wMmiox30 | | @30 | |
PE) 905090 |pes) 901302 [pes() 904336 [pes|(x) 904298 [pes|(x) 904300 [pes] pes
9 9 9 3 6
Q) i 2l
| @45 | | e20/105 | | w@exe0 | | LBwe | | LReD | | N
(O 703850 |p€]) 703827 |pes|() 902124 |pes|() 980161 [pes|(C) 902232 [pes|(C) 902233 |pes|(C) 905115 |pes
" || 1] 16] 21] 13] 8] 5]
| ’ 2 e ||
6y
Mark K | | YELcow | | 1s0xs0x50 | | M0 | | wmioxss | | wmioxso | | @30 | |
PE)) 905090 |pes) 901302 [pes(() 904336 |pes|(x) 904298 [pcs| Pes pes
- 5| S S | 5| . -
il
| @45 | | @20s105 | | @exe0 | | LBLWE | | T T
p&)) 703867 |pes|() 902124 [pes|() 980161 [pes|(C) 902232 [pes|() 902233 |pes|() 905115 [pes
10 19 14 5 9
5y 9
| D.GrRAY | | 150x50x50 | | w10 [ | Mioxss | | wmiox30 | | @30 | |
PE]) 905090 [pes() 901302 [Pes|() 904336 |Pesf(x) 904298 [pes|(x) 904300 [pes|(x) 904301 |pes
- 9 9 9 2
©) = i
| ess | | @20r105 | | @ex20 | | LBwe | | vLrep | | xxwreD | |




WALL

CLOXX

DATE: 11.11.2016 4(7)
(O 703869 [PE]) 703866 |pes|() 902124 |pes|() 980161 [pes|() 902232 [pes|(C) 902233 [pes|(() 905115 [pcs|
0 10 23 18 5 13
® ||| |
Mark F | | vELow | | 1s0x50xs0 | | wmio | | wmioxss | | wmiox3o | | @30 | |
(O 905090 [PE]) 901302 [pes|() 904336 [pes|(x) 904298 [pes|(x) 904300 [pes|(x) 904301 [Pes|(x) 904302 [pes
13 13 4 2 3 4
19 1 1 i < = B
SN | i S
o45 | |@200105 | | w@exe0 | | LBue | | LReD | | xxtRED | | xxu vELLow| |
(O 703881 [PE]) 703880 [pes|() 902124 [pes|(C) 980161 [pes|(C) 902232 [pes|(C) 902233 [pes|(C) 905115 [pes|
] 5] 3| 2] 1]
@ [l ]s
S 9
D. GRAY | | 150xs0x50 | | w10 | | wmioxss | | wmioxso | | @30 | |
) 905090 |pes(() 901302 |pes() 904336 [pes|(x) 904301 |pes pos| pos|
) 1] 1] - -
©
045 | | @20/105 | | w@ex0 | | xxtReD | | T ]
D 703879 [pes|() 902124 |pes|(C) 980161 [pes|(C) 902232 |pes|(() 902233 [pes|(C) 905115 |pcs|
7| il 5] 2 2] 1
% @‘/
YELLOW | | 150x50x50 | | w10 | | wmioxss | | wmiox3o | | @30 | |
) 905090 [pes() 901302 [pes|() 904336 [pes|(x) 904301 [pes pos| pos|
) 1] 1] - -
©
045 | | @20/105 | | w@ex0 | | xxtReD | | T ]
) 703886 |pes|() 902124 |pes(0) 980161 |pes|(C) 902232 |pes|(() 902233 [pes() 905115 |pcs|
28] 53] 59 14 2]
@ [l
& 9
D. GRAY | | 150x50x50 | | M0 | | wmioxss | | wmiox30 | | @30 | |
) 905090 [pes|(C) 901302 [pes|() 904336 [pes] Ps| | pos|
) 125 2] 2] - - -
©
45 | | @200105 | | w@ex20 | | - - -




CLOXX

WALL DATE: 11.11.2016 5(7)
PE]) 904297 |pes((x) 904299 [pes|(x) 904300 [pes|(x) 904301 [pes|(x) 904302 |Pcs| Pes|
17 2 3 1 |2
- 7] A 2 | il -
. . o
- |LoReeN | | LyEwow | | LReD | | xxtReD | | xxL YELLow| | N
(O 703884 [pE]) 703885 |res|() 902124 [pes|(() 980161 [pes|(C) 902232 [pes|() 902233 [pes|(0) 905115 |pes
20} 28 44 30 14 16
¢ 1@> / ,’
\at 5 Q)
| yELLow | | 150x50x50 | | Mo | | wmioxss | | wMmiox30 | | @30 | |
PE]) 905090 [pes() 901302 [Pesi() 904336 |pesf(x) 904298 [pes|(x) 904300 [pes|(x) 904301 |pes
- 16 16 16] 1] 3] 2]
=l 2N .
| @45 | | @20105 | | @ex20 | | LBue | | LR | | xxtReD | |
(O 703887 PE]) 703889 |pes|() 902124 [pes|() 980161 |pes|(C) 902232 [Pes|() 902233 [pes|(C) 905115 [Pes|
3‘ i 12] 19 19 6] A
\y 5 Q)
D. GRAY | | 150x50x50 | | M10 | | wMioxss | | wmiox30 | | @30 | |
PE]D 905090 |Pes() 901302 [Pes() 904336 |Pes| Pos| Pes| pes|
- 7 7] 7] | - -
2
| @45 | | @20s105 | | w@ex20 | | - | -
PG 904298 |Pes|(x) 904299 [Ps((x) 904300 |PCs|(x) 904302 [PCS Pes| Pes|
- 3] 12 Bl o 1] - -
| iBwe | | Lyewow | | LRED | | xxu vELLow| | B H
(O 703888 |P€]) 703890 [pes|(C) 902124 [pes|() 980161 [pes|() 902232 [pes|(0) 902233 [pes() 905115 |pcs|
1] 12] 16 10 6] 4]
‘@} / /,
YELLOW | | 150x50x50 | | w0 | | wmioxs5 | | wMmiox30 | | @30 | |
) 905090 [Pes() 901302 |pes() 904336 [pes((x) 904298 [Pes|(x) 904300 |pes pes
- 4 4] 4] 3 T -
i N
| @45 | | @20005 | | @ex20 | | LBwe | | Lred | | T




WALL

CLOXX

DATE: 11.11.2016 6(7)
(O 703894 |p€s]) 703892 |pes|(C) 902124 [pesi(C) 980161 |pes|(C) 902232 [pes(C) 902233 |pes|(C) 905115 [Pes|
1] 20] 30 20] 10] 10)
S T
= 5 & @
YELLOW | | 150x50x50 | | M10 | | wmioxss | | wiox30 | | @30 | |
() 905090 [PE]) 901302 [res|(C) 904336 [Pes|(x) 904299 |Pos|(x) 904300 [pes|(x) 904301 |Pes|(x) 904302 |Pes
10] 10 10 2 2] 2 .k
i 2l 5
o45 | |@200105 | | w@exc0 | | Lyewow | | LReD | | xxureD | | xx veLow| |
(O 703900 |PE]) 703895 |pesi(C) 902124 [pes|(C) 980161 |pes|(C) 902232 [pes|(C) 902233 |pesi(C) 905115 [pcs|
1] 8] 21] 17] 4] 13|
S ,’
\mif @‘/ ey
YELLOW | | 150x50x50 | | w10 | | wmioxs5 | | wiox30 | | @30 | |
() 905090 [PES]) 901302 [Pes|() 904336 [Pesf(x) 904298 |pes|(x) 904300 [pes((x) 904301 [pes|(x) 904302 |pcs|
73] 13 193] 4] ik
o !
@45 | |e20s105 | | @ex20 | | LBue | | LRED XXL RED XXL YELLOW | |
(O 704204 (O 902124 [pes|(O) 980161 |pes|(0) 902232 |pes|(C) 902233 [pes|(C) 905115 |pes
28] 43] 29) 14] 15|
S e
\m# || ®
) ‘
150x50x50 | | M0 | | wmioxss | | wmiox30 | | @30 | |
() 901302 [pes() 904336 [pes|(x) 904298 |pes|(x) 904300 [pes|(x) 904301 [pes|
15 15 ] 1] 3 | 1]
Sl
@20/105 | | @6x20 | | LBue | | LRED XXL RED | |
(O 902124 |pes|(0) 980161 [pes|(0) 902232 |pes|(C) 902233 [pes|(C) 905115 |pes|
120] 30] 120 10] 10]
& ,’
s || &
) ‘
150x50x50 | | M10 | | wmioxss | | wmiox30 | | @30 | |
(O 901302 [pes|() 904336 |pes|(x) 904300 [pes((x) 904301 [Pes|(x) 904302 [PCs|
10] 10] 2] 2 . 6]
O o
| @45 | | @201105 | | @exc0 | | LReD | | | xxe veLLow | |




WALL

CLOXX

DATE: 11.11.2016 7(7)
(O 704206 |PE]) 704196 [pes|() 902124 [pes|(C) 980161 [pes|(C) 902232 [pes|(C) 902233 [pes(C) 905115 |pcs|
Yo | | 2] 2] 15| 10 °
S , ,

= || s
| vewow | | 1soxsoxso | | M0 [ | wMioxss [ | wmioxso | | @30 | |
PE]) 905090 [pes|(C) 901302 [Pos|(C) 904336 [Pes|(x) 904300 |Pes((x) 904301 [Pes Pes
| | =l =l 1] d -

<

| @45 | | @200105 | | weex20 | | LRred | | xxtreD | | ]

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS




WINAM GROUP

GRIP INSTALLATION paTe:

CLOXX

3.11.2016 LAY 1(2)

HUOM!

vaihto.
Sddtomahdollisuus (90°,180°,270°).

Jos asennetun otepalan suuntaa— tai
paikkaa halutaan muuttaa.

lrrota otepalan kiinnityspultti ja
otepala, kdannd tai vaihda.

Siirrd tarvittaessa tappi oikeaan
paikoilleen ja lopuksi kiinnitd
muovitulppa @30 paikoilleen kaikkiin
otekokoonpanoihin.

NOTE:

Crip positions and angles
are adjustable (90°,180°270°).

Grip can be repositioned by removing
the fastening bolt and pulling the
grip off.

Securing pin can be repositioned
when angle is changed.

After the parts are reassembled.
Finish the assembly by fastening the

cover plugs (@30).

@30 (905115)

Upotusreijdt plug

Holes

Tappi

Grip

M10Ox55

Kadanto suunnat
Angle of rotation
90, 180°, 27/0°

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP CLOXX W
WALL INSTALLATION opate: 2.11.2016 AT 2(2)

NOTE: |
When two or more plates |
are assembled directly !
next to each other, the |
connectors of ALL the 1
adjacent plates need to i
be placed between the |
first plate and the tube |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

uom:

un yksi tai useampi levy
sennetaan vierekkdin, tulee
aikkien vierekkdisten levyjen

H

K

a

k

kiinnikkeet asettaa valmiiksi NOTE:
p

v

v

k

utken ja ensimmdisen levyn |
Huom!

dliin. Kiinnityskappaleita ei
oi pujottaa putken ja
iinnitetyn levyn vdlista
jalkeenpdin.

while fixing the first wall
plate. The connectors
cannot be fitted through
the gap between tube
and completely fixed wall
plate.

M10x55 M10
902124
M10x350

W~ W
\'. ..,.‘.v I
WA
% s =
& | /902124 Use d wire marked pairs

w of the same junction.

Huom!

&
% Kéytd langalla merkittyd

paria samassa liitoksessa.

N
N &t‘%

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333

PN ]




WINAM GROUP
Impact Area EN 1176 REF:

DATE: 20.2.2018

]

3

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y M

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm
AL S A
SR L 44

Py
a

G oac G4 a4ga
2<% 10 cm i
4.4 - 44

grass
4 < 4 qa 5

unsorted sand

e

h <3000

Loose fill material

E.g. Toae
sand/gravel 0,25...8 mm D60/D10<3,0 | 2 Lot ¢
Woodchips 5...30 mm i ¢ ae O l. o,
bark 20...80 mm < . ) “
eSS R S
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m 1 A2 L SL //Ls‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2,5 m = =sloioi-oT-T-T

Note. For accurate values, see
manufacturer’'s instructions.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N
WINAM GROUP s’

REF:
EN 1176 FOUNDATION DATE:  20.2.2018 mPLAY

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

@

REMOVE SAFETY SURFACE /SAND /GRAVEL
TO CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

703841

DATE: 2.11.2016

¢

PLAY 1(1)

B

XXL RED

Merkki osoittaa levyn asennon (kts. p&ddohje).

This mark indicates the position of the plate
(check main installation instruction).

D. GRAY

(O 703841 |P(S)) 703818 |pes(() 902124

150x50x50

Pes(C) 980161

)

M10

pes(C) 902232

@‘/ @\’

M10x55

pes(() 902233

M10x30

pes(() 905115

@30

@

@45

) 905090 [pes|() 901302

220,/10.5

pes(() 904336

<

@6x20

pes|(x) 904301

XXL RED

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

703846

DATE: 2.11.2016

s

PLAY 1(1)

G

Merkki osoittaa levyn asennon (kts. pddohje).

This mark indicates the position of the plate
(check main installation instruction).

‘ O
‘/ L GREEN
L BLUE ‘/l
[¢]
O O
(O 703846 [p(s]) 703823 |pes|() 902124 [pes|() 980161 [ees|() 902232 |res|() 902233 [pes|() 905115 [ecs
B 16 25 17 8 9
% "’
& 9
| vetow | | 1soxsoxso [ | w10 [ | Mioxss | | wmiox3o | | @30 | |
ps[) 905090 [pes|() 901302 [pes|(C) 904336 |pes|(x) 904297 |pcs|(x) 904298 [ecs PCS
9 9 9 4 5
| @45 | | @20/105 | | w@ex20 | | LGREEN | | LBLUE | | -

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

703847

¢

PLAY
CLOXX DATE: 2.11.2016 1(1)
Merkki osoittaa levyn asennon (kts. pddohje).
This mark indicates the position of the plate
(check main installation instruction).
o
o
XXL RED
[e]
o )
() 703847 |p(s]) 703824 |pcs() 902124 [pes() 980161 [pes() 902232 |pes|() 902233 |pes) 905115  [pcs
2 | | 16| 21] 13 ] '8 | 5 |
& &
)
D. GREY | | 150x50x50 | | M10 | Mioxs5 | | Mmiox30 | | @30 | |
D 905090 [pes|(C) 901302 [Pes|(0) 904336 |pes|(x) 904301 |pes Pcs| Pcs|
S S - -
©) =
| @45 | | @20/105 | | @6x20 XXL RED ] ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 703850 |
CLOXX DATE: 3112008 =\ 1(1)

Merkki osoittaa levyn asennon (kts. pddohje).
K This mark indicates the position of the plate

(check main installation instruction).

L BLUE
<& |
o
O O
(O 703850 |p¢]) 703827 [pes|(C) 902124 [pes|(C) 980161 [pes|(C) 902232 [pes|(C) 902233 [pes(C) 905115 [pes|
o, 1 16 21 13 8 5
® ]

& 9
| vewow | | 1soxsoxso | | Mo [ | wmioxss | | wmioxso | | es0 | |
PE[) 905090 [Pes() 901302 [Pes|() 904336 |Pes|(x) 904298 |pes pes pes

[]
[«
[
[o]

OB - -

245 @20/10.5 @6x20 L BLUE

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

703845

N

s

PLLAY
CLOXX DATE: 2.11.2016 1(1)
Merkki osoittaa levyn asennon (kts. pddohje).
This mark indicates the position of the plate
(check main installation instruction).
F// e} o
o)
O
L BLUE ‘
Q |
o )
(O 703845 |PE]) 703822 |Pes|(0) 902124 [pes|(C) 980161 |Pes|() 902232 |Pes|(0) 902233 |Pes|(C) 905115 [Pos|
1] 16 |21 193] | 8] =l
Q)
YELLOW | | 150x50x50 | | Mo | | wMioxss | | wmioxzo | | g30 | |
D 905090 [pes((0) 901302 [Pes|(0) 904336 [pes|(x) 904298  [pcs| pes pes|
- S S S O] - -
Q) = .
| @45 | | @201105 | | w@ex20 | | LBLWE | | ] ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

703638

= | \4
PARKOUR DATE: 18.8.2011 | 1(1)
(1) 904146 |pes|(2) 909519 |pcs|

, 1
(3) 909637 |pes|(4) 909638 |pcs|
4 4
mMio | | @20/105 | |
(5) 909639 |pes| pos|
4] -
Miox25 | | B
P s
s P
P s
DET 1 904146 DET 2 DET 3

M10x25

909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



11.5.2017

LAPPs

gy ot
ity Mﬂnvmxm

o

123 po
S oy
Tiergy ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.



WINAM GROUP 703640 =
PARKOUR DATE:  18.8.2011 LAY 1(1)
(D 904152 [pes|(2) 909519 ey

1
() 909637 [pes|(4) 909638 [pcs|
4 4
Mo | | @20/105 | |
(5) 909639 [pcs| ees|

4
Miox25 | | ]

DET 1 904152 DET 2 3

909519

M1Ox25

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 902134
CLOXX DATE: 3.5.2013 1(2)
(1) 901803 |pes|(2) 901994 |pes
e 2]
DET 1, 2, 3, 4, 5, 6, (8) M
5 soz058 (@ 5022
DET 8 M
. I M12x120 ﬁ M12 E
/ \§ |

{

|

DO NOT TIGHTEN THE
JOINTS UNTIL THE
STRUCTURE IS COMPLETE.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 902134
CLOXX DATE: 3.5.2013 ~ 7 2(2)
DET 1 DET 2 DET 3
\ % eSS0 V&?ﬁﬁ&ﬁ%
Kng:XWm.
A A

LAMINATE OR WQOQD

(901803)

M12
(902234)

DET 4

901994

901994

Max. 20Nm.
M12x120
(

FIRST
BOLT
INSTALLATION

Max. 20Nm.

M12
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096) (902096)
DET 7/ 902157/ or DET 8 902157/ or

904747 904747

FREE HOLE FREE HOLE

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX

703842

DATE:

2.11.2016

©1(1)

C

Merkki osoittaa levyn asennon (kts. p&ddohje).

This mark indicates the position of the plate
(check main installation instruction).

XXL YELLOW
b
[©]
[e] o]
(O 703842 |PE]) 703819 |pes() 902124 [pes(() 980161 |pes() 902232 [pes(() 902233 [pesf() 905115 |pcs|
3 1 10 12 8 | 4
& 9
D. GREY | | 150x50x50 | |  M10 Mioxs5 | | wMiox30 | | @30 | |
D) 905090 |pes() 901302 [pes() 904336 |pes|(x) 904302 [pes pes pes
4 4 4 4
1o [~ B 1 T
»
2l .
| @sas | | @20r105 | | @ex20 | | xxL vELLow| | - -

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

GRIP INSTALLATION paTe:

CLOXX

3.11.2016

PLAY A(2)

HUOM!

vaihto.
Sddtomahdollisuus (90°,180°,270°).

Jos asennetun otepalan suuntaa— tai
paikkaa halutaan muuttaa.

lrrota otepalan kiinnityspultti ja
otepala, kdannd tai vaihda.

Siirrd tarvittaessa tappi oikeaan
paikoilleen ja lopuksi kiinnitd
muovitulppa @30 paikoilleen kaikkiin
otekokoonpanoihin.

@30 (905115)

Upotusreijdt plug

Holes

Tappi

Grip

M10Ox55

NOTE:

Crip positions and angles
are adjustable (90°,180°270°).

Grip can be repositioned by removing
the fastening bolt and pulling the
grip off.

Securing pin can be repositioned
when angle is changed.

After the parts are reassembled.
Finish the assembly by fastening the

cover plugs (@30).

Kadanto suunnat
Angle of rotation
90, 180°, 27/0°

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

WALL INSTALLATION

CLOXX

2.11.2016

DATE:

LAY 2(2)

NOTE:

When two or more plates
are assembled directly
next to each other, the
connectors of ALL the
adjacent plates need to
be placed between the
first plate and the tube
while fixing the first wall
plate. The connectors
cannot be fitted through
the gap between tube
and completely fixed wall
plate.

Huom:
Kun yksi tal useampi levy
asennetaan vierekkdin, tulee
kaikkien vierekkdisten levyjen
kiinnikkeet asettaa valmiiksi
putken ja ensimmdisen levyn
vdliin. Kiinnityskappaleita ei
voi pujottaa putken ja
kiinnitetyn levyn vdlistd
jdlkeenpdin.

NOTE:
Huom!

7 D\

N
'g('!'é-/%»

\
\\\\\\>\

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kdytd langalla merkittyd
paria samassa liitoksessa.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

703844

DATE: 2.11.2016

C

PLAY 1(1)

Merkki osoittaa levyn asennon (kts. pddohje).

This mark indicates the position of the plate
(check main installation instruction).

"/ L GREEN
L BLUE ‘/I
[¢]
o O
() 703844 [PES]) 703825 |Pes(() 902124 |Pesf) 980161 [Pos|() 902232 |Pes(() 902233 |pes{) 905115 [Pos|
i 16 25 7 8 9|
® |~
& 9
YELLOW ] 150x50x50 ] M10 ] M10x55 ] M10x30 ] 230 ]
) 905090 [pes() 901302 |pes|() 904336 |pes|(x) 904297 [pes|(x) 904298 [pcs| ps|
9 9] 9 4 5| .
@ = M
| @45 | | @20/105 | | @ex20 | | LGREEN | | LBLE | | ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

703843

DATE:

2.11.2016

N

¢

PLAY 1(1)

D

XXL YELLOW

Merkki osoittaa levyn asennon (kts. pddohje).

This mark indicates the position of the plate
(check main installation instruction).

L BLUE

() 703843 |PE]) 703820 [es(() 902124 [pes(() 980161 [pes() 902232 |pes() 902233 [pes(() 905115 [P
1 6] 25 17 8 | 9 |
& 9
veLlow | | 1soxsoxso [ | wmio [ | mioxss | | wmioxso | | @30 | |
D 905090 [pes|() 901302 |pesf() 904336 [Pes|(x) 904298 [pes|(x) 904302 |pes pes
9 9 9 4 _ |5

- 9] ] ] i .

SNl

7 'x‘.f;’"kr
| @45 | | @20/105 | | @exc0 | | LBLUE | | xxu yeLLow| | ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





